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RARFRETATICED< A b—7ERE 1A MMRERMHER

%8 2040 : ENCORE \V ERAEH /B ] 11,500 Kcal/h
13.4 Kw
RREHH/ B 3.20 Kcal/s

Av . R b—T7REREER
Av (flm) = 618 x 605 = 373,890 mm’
Av (EHE%ME) = 660 x 605 = 399,300 mm’

Ah : R bM—T7XKFIZEHERE

Ah = (79197  TE=b =N EEDH-RREITE) X (RXHEIE)
Ah = 618 X 686 = 423948 mm’

Ls : A b—7F0 kKT 2EEE

Ls (Bl@m) = 159 X J Av({ElE) = 972 mm
Ls (IEm) = 24 X JAVGEE/SHE) = 1517 mm
Ls (Hm) = 159 X JAVEME/EE) = 1005 mm

Hs : R b —7Ha YRS EERM

1000000 )
Hs = 0.00106 1+ Ah = 1341 mm
Ah + 80000

Ds : A b—7Er VIS EIERE
Ds = REZS TS,

FEE . 15480kcal/s LT DA+—T



